ol i | gt | | i

‘5‘1" l""li-'...r-".ﬂ ...-..-»'...-.'l.:...;.‘tiﬁ,.u :llJfgr'

LrEdan 101, -
6 (d) 3(c) 5(b) 3(a)
L5 .23 -r
43, 33, (c) 234 (b) 135 (a)
:h:':_;l: .,:i;.. B o i s -
“.11 {d} 11? {c} l.-‘ {h_:l j:_‘ {a]
2 :
[—E} B e e el e e, 22 il
q
—p? —n? 3
S L) =5 () & ® @
B=-----=—- -
S LoD 2(c) 4(b) 8(a)
4 0.00421 = 1
421x10%°(d) 421x10* (o) 42.1x10% (p) 421x10*(q)
~&¥log76.52 3
4 (d) Hc) 2 (b) 1(a)
X = e 09,18 =x fj A
4 (d) 3c) 2 (b) 1(a)

4 _[¥9999 A
0.9998(d) 299.9(c) 99.99(b) 9.995(a)

-_+.=r,.i L#Fb': E . [
2(a)

4(a) 3@ 3(b)
<16 ¥ 20 _n
80%(d) 70%(c) 60%(b) 50%(a)
I‘-Z’Ihq-bﬂn——_--—n--—qf—’:-q-—- _r

WA I (@+b) (@ bc) (a-bY(p) _{a<1b)*ca)

(a+5)(a-5's_ i

a’+25(d) a*-25(c) a’ +10a+25(b)_ ¢ & -10a-25(a)
ad 2b? - - - ——— - W

(a-b)(a® - ab + b%) (), %, {a ¥b)(a? - ab + b?) (a)

(a-b)(a® + ab+ b A) (a+ b)(a® + ab + b?) ()
N k6,8, 56,4,8,6,7 -

8ld) © “T(c) 6(b) s(a)
( -2) (x +3) = 1

x -5x+6(d) x*-Sxk=86(e) x* +5x+ 6(h) x* +x-6(a)
_ N Lé,..f"‘"L'EIJ a’b? — ab* e

<86 (a - b)(a + b) (b) a(a® -b*)(a® + %) (a)

S Loa) ab®(a - b?)(a + b%)(c)
W% - 1290900 2o KBS Ugstin /1 _iA

& slik(d) &3S (e) & 1is7(b) & iS 2k (a)
.y 03Bt S F LW S gsin | 8

A Lod) s FBE) rigiAb) & sil(a)
Sz (ab)’ (a7 Y)  _p

a®* b *(qg) @®.b(g) a’.b '(p) a’ b (a)

]t s gl | i i |t s
~SASNAL 2 g SR S
-;,,{;Judirﬁrngﬂgt:ﬂ# P
110112 x 11102 (r) LAt AL B 324 (1)

Loga 125 = 3.8y alr) 2 s Hr L 0.00518 ()

_L{..-ILH-_ Jij?ﬁlf 23.:.}{:1531 :r_'.JLr'

- /7 (Mode)sse¥ 6,8,5,6,4,6,B6,7 r i

N :«;ﬁgfﬁfg{f L}Lﬂuﬂ Y E.-:h;-‘ﬁ-«‘r 3200 3h) i

N i3 ﬁj:hq_ f;—-_’hJ-i. uﬂﬁﬂquﬁﬂjuﬂe- +2400=% ..,.-f.JI...rd’q_f{.fI e )l
-Jgﬂrf}fuf 0.00518 1 )i

100,125 = 3 G /rhedla v
) - /PP 262,3,4,56,7,89,10 A
tﬁgffuﬂuﬁfﬁgﬂzmymf?rmﬂdf L0 LI 124069 )1

(x* +864)+ (x* +4x + 16) 2 Ayl
el S3A=4B ImB=4q+5p-2r, A=2p-3p-4rSi nJir
S d § 198,530 5,100, 2 = 0.3010 108, 3 = 0.477110g 1,5 = 0.6990 /] .y J,-

(] ot g | iy it gt

SISt E e a1 d
--‘L.E-'.-’r_;‘:";fu' JE‘uﬂF:fLMUIJﬂPJL{f.HE e -
ol 5 280 S A P S Costive BC,AB B LABC AL A iy
*L[)#.:-ruxfh L.PL{L-EJIE- ._..f_t Ji...m.,-.'-':m,-_ﬁr

Aw) LS (iv) E iSRG &) & ik (D)
; B SRl = S
mZCAB = 45° .o mAB = Scm,mBC = dcm LU E-LABC &L 12 )i
AT A L UL ke W 900 L L S 1A




